2. Work out 3201 — 456

3. Work out 865 x 7

4. Workout 3832+ 8
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10. Farmer Andrew’s chickens lay a total of 314 eggs.
Each egg box holds only 6 eggs.
Howmmyeggboxuwiﬂ?unurmunbkwm-ﬂhv

314 =52.3
5

115 Wﬁtelmmberinewhboxinordetwmaknﬂzulcuhﬁoumt.

C+5 @ SI;6+=25

() 8+4=|35) |-9
TELE]

r—i_\
© 7=s51-(|5 |x4
o, 7=5-(F]x

D 12. Shade 75% of the shape below.
Sheae L ¥ Horatr Ahan
X Fhrn ¥ US0al Sincs ol
O teentican
Piece §

+ Qrrows
t tHepges
s75(*':3
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15. mmmmmmum AR
TmemPﬂﬁ:pMMWﬂG*

8G- ¢¢= 20 Yeors iﬁ

+ 8 MONh;S -+ 3 mm\‘\s = ,‘ - a._.-‘.‘.;'th
OQ.“NN{ o : b7 o
21 Yeows T NS TR

16. A recipe to make lzwmmmmdhﬂmmd
blueberries, in addition to other ingredients.

(a) Charlotte wants to make just 9 muffins. - 4' X3
Howmmymmofmhofthoﬁoﬂowh;m'edmwm:hmd?
(i) flour

Anlwer‘225 g

(ii) blueberries
[3ox 3
1—

Anlwer:l35 g

(b) Paul has a one kilogram bag of flour. If he uses the whole kilogram of flour to
make blueberry muffins, how many can he make?

(0009 | 300 groms Molkes (2
25 Qrams "okes |

—

000 = 40
25 Amwer."'g
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18. The number 8 has four factors: 1,2, 4and$ o A )
(a) thhbhhmmb-mhﬂbm-nql-w
Not 12 4his ko 1,2, 3,4€ 12 S

1 Ras b7, 14 ’ s
®) Wmmmm«ummmuu*w s

thol_?q 1

(©) Some numbers have only two factors.
Whatilﬂxe-pecidmmegivenwthinypeofmbeﬂ
I:mayhclpyoutowritcdownsommbmwithonlymfacm

Answer: P11 00%..... DUODBR ¢~

19. (a) A packet of 9 chocolate cookies costs £2.61
What is the cost of 4 of these chocolate cookies?

q
‘ swer£ ...........................................
E ™ Culaboughthooher)m , and paid § total bf £8.50
i One book cost 60 pence the other. 3 4ou  SU
\_')OO //q/\ Whatwasthepnceof-the cheaper book? M N Feren .
e - [0 %5 X+y= 8. 50
S TR coissimioe 0 o o5 \‘ I )
P Y . gor \\ - 8. 20 Ammrf.‘b =
{ = 24<9.10
284008 4 = . H5 3 DR 8. ¢ -
\ ?' (q H 4 4 ‘-_"'}
. Nk e
o AR



https://mymathscloud.com
https://mymathscloud.com

v

22. (a) Estimate, in centimetres, the length of the line below.

(b) The man in the diagram is 1.8 metres tall.
Use this fact to estimate the height of the tree.

B =

esasserseserernsninatisnrine
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= 25. (a) This is what Evie sees when she
43 glances at her clock in the mirror.

‘Write the time her clock actually
shows, using the 12-hour clock.

REA Ey

Amwu:Ol ~ 1'1

g (b) A film lasting 2 hours and 20 minutes started at 16:55
A | (€ At what time did it finish?

A TSRXERY

3 (c))ThreeﬁiendssurwdlsponsoredsilcnceatexacdylS:bOand.onebym.bm :
g out in giggles at the times shown in the table below.
“ SAnAIG: - |
"‘ S Holly
filise rotational Rebecca [-17:08
oot lir Stacey (e8|
S ”wﬁr TR,
'ir i i % (i) For how much longer did Rebecca remain silent than Holly?
an c O
N
oo Sl
il Answer: .. X ..... m IPJ ....... min
T & 2 \>
Peer? % (ii) If each girl was sponsored 10 pence for each minute that she remained silent,
—A—lL " | how mucBmoney did the three girls raise in total?
2% MIAS+ 2 kS S &
§ o) ST 2 h MRS 4 N 33
y 4+ hrs G0 ming s
\:?"_ 8.3 ACS = 300 M NS Amwer.f..;.:..\r\. .................................

00X .10 ¢ IO
O Q 284008 12

[ TEEEN
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(a) How many cubes are needed to make the object?

(®) The diagrams below show possible front and side views of the object.

side view S
(c) On the grid below, draw and shade the plan view of the object.

L1 Rt
R
e
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(a) What is the total cost of the 5 dark chocolates?

(b) What is the mean (average) cost of a dark chocolate?
| .45

Sl
Anewer: 22 AL
For each type of chocolate, there is a milk chocolate version which costs 2p les
the dark chocolate version. OR = By
(c) Write down the mean cost of a milk chocolate. ~ JURA .
9 2 froeme
2L 433425423428
5

e LT FCORBENe B
5

(d) Jill buys one of each type of dark chocolate and each type of milk chocolate asa
gift for her friend.

Using your answer to part (a) or otherwise, work out the cost of all 10 chocolates.

. 45°9°P 38

Amwer.i'z‘ 80
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31. Field crickets chirp according to the tempe
You can use the following rule to

L@mu-c-(_u‘

(a) Freddie, the field cricket, chirps 61
Work out the temperature of Freddie’s
(€1-40)= 7416
T21<T 7410

Pt S

surroundings.

e
TR

(b) Flora, the field cricket, chirps 41 times in 30 seconds.
Work out the temperature of Flora’s surroundings.
(82-40)<+ 74 (O
7 o
s
= ‘G

- 1 L

(c) The temperature of Flossie’s surroundings is 18°C.
Work out how many times Flossie chirps in 1 minute.

e 3D ) hro=ty

5
J('-% = 8
>
&“to: 5S¢ ch
X = Q(;
BEGT - 10)x 7 4 40

O wim ;
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Qe+ XA

) 0f Y on
terms OF R
Work out how many are equivalent to one ' o
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36. (a) Tholhlpebelnws is made from squares.

*H

b

The perimeter of the shape is 100 centimetres.
Work out the area of the shape.

190 =-ip -
Bl
25X 1O

RIhom bus

(Pushwd
Qver
Squodie)

3x3:q

=

5. v
&, 284008
Pl 0.
le\ ‘r\,, / &
;Va?ﬁ

N
(b) Woﬂmﬁemdhm&mmhmﬂm
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Jetter in the words below represents a number less than 10
s ﬂumh-ﬁm-.mmmwnmum

Given that
BAT = 90, LET = 168 and BET = 105,
o msumonéun (3 ios
Qo 1032 /\
/ Sn2
2 8% 11
4 ¥ 72
2K %2
e T 7]
kf ';‘!7
27X3
"6'.7‘% %a."’ia.@,@ =5 308 =
Behind one door, thcnui@mdbehmdmoﬂm,theteunldeﬂ Co MM g N
Behind the other door there is nothing. focsnr € W
Each door has a notice. However, only one notice is true. ). so E =9

N° ”Nh\r* 5% 5P (Y N5=00 _)p.rKr
door is 1000?

2 |"‘ @ 1 o 4de>S {yr\?,ﬁ 'ﬂ"l_)‘,l -(r’r,\\ <p "
S NS N So | not drus
- . 200
Ss S, °

3 l\D‘k’
y &Qr‘|om
@"Vu( dons flon 100 mis),
|r7 AHT
o LA

Om /00 2%\ 5
Jesg # here | +5 false so 3

ANl b owr noﬂ\hq S

Mos+ Y=o \sA ‘

-
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